M xoC = B4 §x+ 32°F o]t} 514 104°F = ¥ L& 2 olu}

Q712

@D 30°C ® 40°C 3 50°C @ 60°C B 70°C



@ 5y3

® 8x3y?

@ -y

]‘2
@gxy



[ ]

B

Q44+ x O xx4

© x+x+x+x ® xXxXxXx




4]

x °] gk
olct.

=1
Sh=

@ Ao] ol =HA

-
=

@ ax®+bx+c=0



5. Ohg A FolA FEAL BE D27

® 2x=5x+1 @ 3x-—x=2x
® x+4=2x @ 3(x-1)=4x+3

B 2x+1=x4+x+1



@ 4 3 3 @ 11 ® 12

@D 2



7. O& T QA EEA2?

® 23+x)-2x=0 @ 3x-4=4+3x
@ x2-2x+1=x24+x-1 @ 3 =2+ 2x2

B —x+3=—-x4+5



8. a+brcxd=3aHA 7199 WAl 7158 AFsto] vehE?

ad 3bc abc
> 95 ©= @ — 0




w, ok % 419 grel 7}

o]
=

1
X=-=
2

9.




@ 4x+2 9 A2 4x ol

© 2x+5 2322 -1 2 FFFL glct
© —x+2y-1 9 A2l g2 0 ot
@ 5 & TgAlolth

©® 2ab+1 ] A& 2 o]t

DA.OC 0.0 ®0.6e boo 666 0




. ox=2,y=-3 < o, 2(3x-2y) - 3(3x + 4y) 9] & Fotei=t

Ct-
=






! @ x+3=6[3]
D 1-3x= H



@ 2(x+1)=-x+3
@ —(x+1)

D 2wx-1=2

x—5

®4-(x-1)=x

® 5

2(x+1)



ol Kar)

=1

.

ul



S bt T o,

3

9

x+3

X K S — 2—-x
§+1=x—1—4° 6]:[261,
axb® ga F

Mg A -

Fed=t.

I



17 =
. (0.3x+ =
0.1 o}
1) x4 &
=2 7ots
I-: o] St /K]oﬂ
o — /\_1 X = S
T [e) 7:"}\
=
9] s}
T= e o:]g]-



18.

ol

o A

tlo

Zrers] she?

6x— {7y —5x— (3x—8x+T7y)}

@ 6x @ 6x—-4
@ 1 B x




19. of® o4 AoA] 3x -8 2 Hdllof & Z-& FHEsto] WH Y 6x+ 2
7F =0 ol thA] A & Fohd?

@ 3x-10 @ 3x-6 @ 3x-2
@ 9x—6 ® 9x—-9



20. 2x-3=3(x-a) ° 37t x =12 W, 6a 9| gL& Fatelet

D 1 ® 2 B 8 @ 12 B 18



